[[normalized x? probability ]

107} R 0.05f -
. . . . . Er.vmes -
oY + .| Mean
107 oo St.daDev. 0.04
: ¢ [Enwies .
. P R V! . o
10°F R R S Dev 0.03
107 0.02
El S 13300
i 1.042
10°° e 0.7609
Entries 2631 [ . + [Entes
o Mean 1.064 N i | Mean
o010~ o padesssbosslasasd
= . . ’ = T
g SR g WWW il
2) e |
' Al il 1 Mﬁ
0 2 6 8 10 12 14 16 18 20 405060708 1
Prob(xz)
— nalvector_Toooevr
e DOM evt
— DOMfitted:
s DOMfit cpe‘OK 100
s DOMfit CpeOK_SORTRZZ 1000evt
s DOM—fit_cpeOK“SORTRZ2_TESTOUTLIER2_1000evt
A 2r = 5
— B
2 Py
& a
\Y o
)
\%
=} kel
T T
214 24
2 3
TP n (PCA to beamline)
A N
5 5
c c
vy Ny
> >
\% \%

Ratio

-2 -1
10 AR(track, jeg’[s)

T

< op/p. > (%)

Ratio




	Contents
	Page 1


